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1. Of Harper and the person with the Verizon cell phone, one bought the Twix and the other bought the Baby Ruth.
2. The person who bought the Baby Ruth is not Jayden.

3. The collector who has 82 baseball cards is not Laura.

4. The person who bought the Twix doesn't have a cell phone with Verizon.

5. Either the person with the Nextel cell phone or the person with the Verizon cell phone is Jayden.

6. The collector who has 82 baseball cards bought the Snickers.

7. The collector who has 62 baseball cards has always used T-Mobile.

8. Skyler has more baseball cards than the person who bought the Twix.

9. Harper has more baseball cards than the person with the Nextel cell phone.
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